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e Candidates NOT opting for “HINDI”- Please attempt questions No 1 to 100.
e Candidates Opting for “HINDI”- Please attempt question No. 1 to 85 and
another 15 questions from “Hindi question set”, at the end of this question
booklet.”
1 The percentage of small farmers in India in the year 2023 is:
a) 65 % b) 70 % c) 79 % d) 85 % d 85 %
2 CSIR scientists have recently found Rare-Earth Elements
(REEs) in the state of:
a) b) Assam ¢) Sikkim d) Andhra d Andhra
Chhattisgarh Pradesh Pradesh
3 Recently, India has held a '‘Business Summit' to commemorate
25 years of friendship in:
a) Russia b) France ¢) Germany d) Israel b France
4 Who among the following football player did win the 'Best FIFA
Men's Player Award in 2023 ?
a) Lionel b)Kylian c) Cristiano d) Robert a Lionel
Messi Mbappe Ronaldo Lewandowski Messi
5 'United Nations 2023 Water Conference' was hosted by:
a) USA b)UK ¢) India d) Bangladesh | a USA
6 How many ‘Padma Awards’ have been given for the year 2023?
a) 52 b)75 c) 81 d) 106 d 106
7 Which of the following company has started exports of aviation
gasoline for the first time in India?
a) Indian Oil | b) Hindustan | c) Oil and d) Bharat a Indian Oil
Corporation Petroleum Natural Gas Petroleum Corporation
Corporation
8 India's National Food for Work Programme was established in
the year:
a) 2005 b) 2004 c) 2002 d) 2001 b 2004
9 Which of the following Indus Valley site is presently located in
Pakistan?
a) Kalibangan | b) Harappa c) Alamgirpur | d) Lothal b Harappa
10 Which of the following country did sign the Peace Treaty in

1917 with Germany during the First World War?
a) England b) USA c¢) Russia d) Austria C Russia
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11 ‘Neo-determinism’ was coined by:

a) Griffith b) Blache c) Huntington | d) Ritter Griffith
Taylor Taylor
12 Which of the following is the longest railway line in the world?
a) Union b) Canadian | c) Trans- d) Trans Trans-
Pacific National Siberian Andean Siberian
13 World Trade Organisation was established in:
a) 1993 b) 1994 c) 1995 d) 1996 1995
14 Which of the following has similar interpretation of the sentence
‘I like pets.’?
a) You may b) Do not ¢) I may not d) I like pets [ may not
not like pets. | think that I like other as you like. like other
hate pets. animals. animals
15 Which of the following is known as ‘Alveolar’?
a) /d/ b) /m/ c) /f/ d) /b/ /d/

16 Which of the following is incorrect? Being an
eminent
philosopher
Dr. S.
Radha
Krishnan is
an excellent
teacher.

a) Nabam is b) Being an c¢) Sachin d) He and I
directed to eminent Tendulkar has | are going to
take philosopher | been playing | play now.
examinations | Dr. S. Radha | cricket
well by the Krishnan is continuously
teacher. an excellent | without break
teacher. for 30 years.
17 Which of the following has similar interpretation of the sentence Experience
“Experience is a hard teacher because it gives the test first, the can be a
section afterwards. ”’? difficult

way to learn
because you

learn from
making
mistakes.

a)ltisa b) Experience | c) Everyone d)

helpful can be a has the Experienced

experience to | difficult way | experience of | teacher gives
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have a hard to learn making the instruction
teacher. because you | mistakes both | first and then
learn from in school and | the test.
making in life.
mistakes.
18 “Sometimes intense marketing and aggressive promotion gives Salient
an edge to rubbishness and in this process, the ‘metallic’ effect
which is the quality, is lost.” Replace the italic word with the
given suitable option.
a) Captious b) Tommyrot | c) Rollicking | d) Salient
19 “Strident music does not work for the movie.” In this sentence, Shrill
‘strident’ means:
a) Hermetic b) Inscrutable | c¢) Shrill d) Cryptic
20 The number in the blank of the series of 7, 10, §, 11, 9, 12,
is:
a)10 b)13 c)l4 d)9 10
21 Two persons starting from the same place, walk at a rate of 17 hrs
5Kmph and 5.5 Kmph respectively. What time (hrs) will they
take to be 8.5 km apart, if they walk in the same direction?
a) 12 hrs b) 22 hrs c) 25 hrs d) 17 hrs
22 If the code ‘TWENTY is written as 863985 and ‘ELEVEN ‘is 863203
written as 323039, then the code ‘TWELVE’ will be written as:
a) 863203 b) 863584 c) 863903 d) 863063
23 The number in the blank of the series of F2, , DS§, C16, B32 E4
is:
a) E4 b) E2 c) E6 d) E4
24 ‘A’ is two years older to ‘B’. At the same time, ‘B’ is twice as 10
old as “C’. If the total of the ages of 4, B and C is 27, then age of
‘B’is
a)9 b) 10 c)8 d) 12
25 There are eight mango trees in a straight line. The distance 21 meters
between each mango tree with each other is 3 metres. What is
the distance between first tree and eighth tree?
a) 27 meters b)18 meters ¢) 24 meters d) 21 meters
DOMAIN
26 | ‘V” shaped valley is related to : a




a) River b) Action of Sea ¢) Ground d) Glacial River Erosion
Erosion Waves Water Action
27 | Central Rice Research Institute is situated in: Cuttack
a) Shimla b) Kolkata c¢) Cuttack d) Kanpur
28 | Which of the following is not a characteristic of igneous rock? Fossils are aound
a) Layer are not | b) Related to lava c) Fossils d) Hard
found are found
29 | The approximate diameter of Earth is: 12800 km
a) 4200 Km b) 6400 Km c¢) 3400 Km | d) 12800
Km
30 | Which of the following star is also known as ‘Pulsar’? Neutron Star
a) White Dwarf | b) Massive Star c) Red d) Neutron
Giant Star
31 | The energy of the sun is produced by: nuclear fusion
a) Oxidation b) Nuclear fusion c) d) Nuclear
Ionisation fission
32 | Which of the following planet does not have any satellites?
a) Earth b) Mercury c) Jupiter d) Mars Mercury

The coral reefs that are generally found attached to the shore with an

Fringing reef

33 | intervening shallow channel is called as:
a) Barrier reef | b) Patch reef ¢) Ribbon d) Fringing
reef reef
34 | The river ‘Blue Nile’ is originated from: Lake Tana
a) Lake Albert | b) Lake Tana c) Lake d) Lake
Edward Victoria
35 | ‘Garo Hills’ are located in: Meghalaya
a) Manipur b) Meghalaya c) Sikkim d)
Arunachal
Pradesh
36 | The hot local wind blowing in ‘Sahara Desert’ is known as:
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a) Haboob b) Karaburan ¢) Jooran d)
Harmattan
Harmattan
37 | When air temperature rises, relative humidity will be: Decreased
a) Increased | b) Decreased | c¢) Unchanged | d) Increased or
Decreased

38 | ‘Doldrum’ is characterised by: Uniform low pressure

a)Uniform high | b)  Uniform | ¢) High wind | d) High humidity

pressure low pressure | velocity
39 | ‘Mist’ is the result of:
a) b) c) d) Saturation Condensation
Condensation | Evaporation | Sublimation
40 | The humidity of air measured in percentage is known as: Relative humidity
a) Absolute b)  Specific | c)  Relative | d) All of these
humidity humidity humidity

41 | The fourth and the last Buddhist Council was organised by :

a) Harsha b) Ashoka c) Mahendra d) Kanishka d Kanishka

Vardhan
42 | Which of the following Dynasty had ruled during Sangam Age?

a)Pallava b) Chola c)Sungas d)Sakas b Chola
43 | Kanishika was associated with:

a) Vikram era b) Satavahan | c) Saka era d) Gupta era ¢ | Saka era
era

44 | The Greatest Conqueror of the Gupta Rulers was:

a) Chandragupta - | b) c) d) Skandagupta

I Chandragupta - | Samudragupta c Samudragupta

I

The Chinese Traveller Fa-Hien came to India during the reign of : b Chandragupta

45 -1

a) Chandragupta - | b)

Chandragupta -

c)

d) Skandagupta




I II Samudragupta
46 | Kharavela of Kalinga was the follower of: Jainism
a) Buddhism b) Hinduism | c) Jainism d)Sikhism
47 | The caves of Ajanta and Ellora were associated with: Buddhism
a) Hinduism b) Sikhism ¢) Jainism d) Buddhism
48 | The Administrative Council of Shivaji was well known as: Asthapradhan
a)Asthapradhan b) Nav ratna c¢) Mantri d)Maha parishad
parishad
49 | ‘Babur’ originally came from: Farghana
a)Khorsan b)Khiva c¢) Kabul d)Farghana
50 | ‘Akabarnama’ was written by: Abul Fazal
a)Akbar b) Babur c¢) Abul Fazi d) Abul Fazal
51 | The book ‘Geeta Gobinda’was written by:
a) Jayadeva b) Kalidas c¢) Mirabai d) Kabir Jayadeva
‘Gandhi-Irwin Pact’ was associated with: Civil
52 Disobedience
a)Non- b) Civil ¢) Quit India d) Champaran
Cooperation Disobedience
53 | Goa became independent from the Portuguese in the year:
a) 1947 b) 1959 c)1961 d)1971 1961
Who is considered as the ‘Mother of the Indian Revolution’? Madam
54 BhikajiCama
a) Rani Laxmi b) Sarojini Naidu | ¢) Dr. Anne d) Madam
Bai Besant BhikajiCama
55 | The word 'Veda' has been derived from the root word 'Vid" which means:
a)Knowledge b)Sacredness c)Doctrine d)Divinity Knowledge




India's first official census conducted in the year:

56
a)1867 b)1881 c)1811 d) 1879 1881

57 | The leading cause of all the economic problems is:
a) Wastage of | b) Scarcity c) Abundance | d) Underutilization Scarcity
resources of resources

58 | The father of ‘Macro Economics’ is:
a) John Smith | b) I'Adarn c)J. M. d) Adam Keynes JM. Keynes

Smith Keynes

59 | In 1881, the Indifference curves was developed by:
a)Edgeworth b) Pareto c) Myers d) Hicks. Edgeworth
Which of the following law does signify positive relationship between

60 | price and supply quantity if other things are the same?
a) Law of b) Elasticity of | c¢) Law of d) Supply Law of Supply
Demand Supply Supply Function

61 | ‘Equilibrium price’ is determined by:
a) Demand b) Supply c) Both (a) and | d) None of the Both (a) and
Factor Factor (b) above (b)

62 | ‘Employment Theory’ is related to :
a) Static b) Micro ¢) Macro d) All of the Macro
Economics Economics Economics above Economics

63 | The ‘Market Price’ of all final goods of a country in a year is known as:
a) GDPMP b) GDPFC c) NNPFC d) None of these GDPMP
Which of the following deficit does indicate the borrowing needs of a

64 | Government?
a) Bu'dgetary b) Reyenue c) Prl'rnary d) Fiscal deficit Fiscal deficit
deficit deficit deficit

65 | In India, the period for the first Five-Year Plan was:




a) 1959 to 1964 | b) 1948 to c) 1955 d) 1951 to 1956
1951 to 1956
1953 to 1960 1o 19
66 | Which of the following sector is the backbone of the Indian economy?
a) Primary b) Secondary c) Tertiary d) All of these Primary
67 | Human capital treats the human being as:
a) Separable b) Intangible c) Ameansto | d) Anends to A means to an
elements elements an end mean end
68 | The market in which currencies are bought and sold is known as:
a) International | b) International | c) Foreign d) Eurocurrency Foreign
bond market capital market | exchange market exchange
market market
69 | India has chosen a model of dual GST of:
a) Canada b) Germany c) France d) China Canada
70 | In India's taxation system, HUF stands for:
a) Hindu b) Household c¢) Household d) None of these Hindu
Undivided Universal Unit Factor Undivided
Family Frequency Family
71 | The Constitutional System followed by India is
a)UK b) Ukraine c) Australia | d) Canada UK
72 | “Liberty, Equality and Fraternity in Indian constitution was derived from
a) African b) American | c) Russian d) French Revolution French
Revolution Revolution Revolution Revoltuion
73 | Which of the following depict India as a secular state?
a) Preamble | b) ¢) Sixth d) Directive Principle
Fundamental | Schedule of State Policy Preamble
Rights
The Co-author of Karl Marx wrote The Communist Manifesto? Friedrich
74 Engels




a) Thomas
Moore

b) Friedrich
Engels

c) Hegel

d) Bishop

Which of the following directive principle is based on Gandhian

Promotion of

Ideology c) cottage
75 industry
a) Uniform b) Equality of | c) Promotion | d) Promotion of lower
civil code men and of cottage caste
women industry
Who among the following was the president of Constituent Assembly? d) Dr.RajendraPr
76 asad
a) Lal b)Dr. B.R. c) Jawaharlal | d)Dr.RajendraPrasad
Bahadur Ambedkar Nehru
Shastri
Which of the following is not a condition for becoming Indian citizen? 2) Acquiring
77 Property
a) Acquiring | b) Descent c) Birth d) Naturalization
Property
T i iti hi istrati t h ident
. 0 acqulre citizenship by registration, a person must have been residen 0 Five Years
78 | in India for how many years?
a) Two years | b) Ten years | c) Five Years | d) Eight Years
79 | The ultimate source of authority in popular sovereignty is from d) People
a)Beauracrat | b) c) d) People
Community Government
80 | Who defined ‘state’ as ‘March of God on Earth’. Hegel
a) Plato b) Karl Marx | c) Hegel d) Austin c)
81 | All of the following are the sources of law except a) Liberty
a) Liberty b) Custom c) Religion d) Legislation
82 | Which of the following is considered as part of law? c) Ordinance
a) Public b) Free ¢) Ordinance | d) Gender
statement speech
83 | Which of the following is regarded as the supreme law of independent b) Customary
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State law

a) Judicial b) Customary | ¢) d) Convention

decision law Constitution

Which is not considered as part and source of international law b) State

84 legislation

a) Agreement | b) State c) Bilateral d) International

legislation Treaties Convention
85 | The term ‘liberty’ is derived from Latin word c) Liber
a) Liberator | b)laber c) Liber d) Lester
86 | Which of the following is ‘Plosive Bilabial Consonant’?
a) /n/ b) /T/ c) /K/ d) /b/ a p
87 | Choose the suffix that does not affect stress placement. Able
a) lous b) Graphy c) laL d) Able d
88 | What does the plural noun “Letters” mean?
a) Letters of the | b) Epistles c) Literature d) All of them
d All of them
alphabet
89 | What is the meaning of the word ‘Compasses’?

a) Extent b) Range c) An d) None of An instrument
instrument for | them C for drawing
drawing circles circles

If ‘Most’ is Superlative degree in numerical sense, then the Positive

90 | degree of ‘Most’ is:
a) Much b) More c) Many d) None C Many
91 | Which of the following is the correct sentence?
a) Iron is more b) Iron is most c) Ironis more | d) All of them Iron is more
useful than any | useful than any | useful than any useful than
a

other metal. metal. metal. any other

metal.

Which of the following phrase does indicate wrong use of definite

92 | article ‘the’?
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a) The Vedas

b) The Puranas

c) The llliad

d) The Homer’s
llliad

The Homer’s
Iliad

93

Which of the follo

wing sentence is correct?

a) The jury were
divided in their
opinions.

b) The jury was
divided in their
opinions.

c) The jury was
divided in its
opinions.

d) The jury was
divided in their
opinion.

The jury were
divided in
their opinions.

94

“She wondered whether it ....... be true. (Possibility)”

Which of following is an appropriate modal for the above sentence?

a) Can

b) Could

c) May

d) None

Could

95

Which of the follo

wing sentence is correct?

a) | prefer tea

b) | prefer tea to

c) He is older

d) He is senior

| prefer tea to

than coffee. coffee. than me. than me. coffee.
96 | ‘The Canterbury Tales’ is written by: Chaucer
a) Chaucer b) W. c) Milton d) Sheldon
Shakespeare
Who among the following is a Non-Dramatic poet of the Elizabethan Edmund
97 | age? Spenser
a) Edmund b) Shakespeare | c) Chaucer d) Beowulf
Spenser
98 | The play ‘Twelfth Night’ is written by:
a) Tennyson b) William c) Robert Frost | d) Spencer William
Shakespeare Shakespeare
99 | Which of the following is the odd one? Chaucer
a) W. b) Ben Jonson c) Beaumount d) Chaucer
Shakespeare
100 | ‘Paradise Lost’ is written by:
a) J. Milton b) J. Donne c) Raleigh d) Spenser J. Milton
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Candidates Opting for “HINDI”- Please attempt question 15 questions from

“Hindi question set”.

86 | JIRTORT & TGP DI g ?
a) SETEETE b) FHT IH== | ¢) AT g?)r:?'aﬁ‘? P
87 | ST 3T YT THS Bl b AWD HIF & ? EEGH
SELER b)RTolS: U1 | o)t g d)oreR
88 | gTSId for &1 & Sich S areft aieft € 2 NERTIE
SIEEN DWERTR | BTG o TSR
89 | sratht W & &I I1 HRTehTed ferar T § 2
a)SfhaRHI b) HETHRT ¢) IFARTH | d)RTH™I NEGINGEEIEE
90 | FH=ISH & BifeT | T
a)d b)d ) d)d
91 | T &I AT & YR TR o P foba- UG o7 D
aR b)3 c)¥ d)4
92 | SETHTd BT TART 3&R H Hol IR 5l 67
a)3 A W | b)MT TR W | )R d)TRWR TRWR
93 | 2} P SMYUR TR WGl P fobe 1g BIdl g7
a)¥ b)3 cR d)u ¥
94 | &l fb T THR BT T, 7
a)faam b) M1t BEEILEIE d)TeTdf KEcauil
95 | TTh SHTYRURRIA B BATHABIG?
aR b)3 c)¥ d)« 3
96 | “ Tdh T8] Ugdl * T Jiad pg I 82 FarTy g
a) FTEATT f¥E | b) Wit fiig | ) s d) T fifE
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97 | FEF" WEI" & TP B § BREIRE

a)g=ard b) FAET c) A "W d) ATHaw g
08 | Acd” IHLI" HT T b W &7

a) ST 91T TETE | b) AIgT Tl | ¢) WRag ghesae | d) fae 3o HIg TTehdT
99 | “ AN AT IH “  ATHSH TAAT 7T 872

a) Stra=t b) TR+t NERERI d)fFEy IBEE]
100 | FATT fh qwahTeti o ?

a)fere A | b) 3OTARE | ofdwpTe gl[wwnm e
86

freferterd & FIET ST2aT W7 F7 ITE 18 © ? 3ffet
87 | a)iR b) farer SEIR] d) =T

g THIA e T AT 93T T 81 & 70 U osg &1 9419 ity | FIW

88

a) @a

b) et

c) atA

d) 39T

SPACE FOR ROUGH WORK
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